Урок «Сложение и вычитание многочленов» Приложение 4
· Упростите выражение: 

(3а + 3в) + (3а – 3в) = 

· *Упростите выражение:

 (а2 – 5ав – в2) + (а2 + в2) =

· *Упростите выражение:

 (а + 3в) +(3а – 3в) =

· *Упростите выражение:

  (3а2 + 7а – 5) + (3а2 + 1) =

· *Упростите выражение:

(5а + 3) + (-2а2 +а +7) =

· *Упростите выражение:

(х +6у) + (3 – 6у) =

· ** Упростите выражение:

(2а2 + 3а – 2) – (5а2 – 3а + 2) =

** Упростите выражение:

(х3 – 3х + 15) – (х3 + 3х – 15) = 

** Упростите выражение:

(8х2 + 2рх – 3р2) – (2х2 + 3рх – 3р2) =

** Упростите выражение:

(3а + 5в) + (9а – 7в) – ( 11 – 5а) =

***  Упростите выражение:

(3х5 – 3х3 + х – 8) – ( - 3х5 + 3х3 – х + 8) = 

*** Упростите выражение:

(3в2 +2в) + (2в2 – 3в – 4) – ( - в2 + 19) =

